C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 406=3 = 2) 696+3=
- 1.
2
3
3 90+2= 4) B4+ = 4
5.
6.
7.
5 696+8 = 6) 264 =
8.
0.
10.
7) 63+8= 8) 504+7 =
- - 11.
12.
9 298+5 = 10) 52+2=
11) 605+7 = 12) 256+8 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 406+3= 135r1 2) 696+3= 232 13511
- - 1.
2 232
3. 45
3 90+2=_ 45 4 54+2= 27 4 27
5, 87
6. 6r2
7. 7r7
5 696+8= 87 6) 26+4= 612
8 12
9. 59r3
10. 26
) 63+8= 717 8 504+7= 72 " 363
12, 32
9 298+5= 5913 10) 52+2= 26
11) 605+7= 8613 12) 256+8= 32
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 1 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 533:+7= 2) 86=2=
- - 1.
2,
3.
3 594+6= 4) 43+8= 4
5.
6.
7.
5 60+8= 6) 876=4 =
8.
9.
10.
7 70:2= 8) 46-2 =
- 11.
12.
9 241+2= 10) 35+4 =
11) 886+7 = 12) 30:7=
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 2 11-12( 8| 0
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 533+7= 7611 2) 86+2= 43 7671
- 1.
2. 43
3. 99
3 594+6= 99 4) 43+8= 513 4 5r3
5. 7r4
6. 219
7 35
5 60+:8= 7r4 6) 876+4= 219
8 23
9. 120r1
10. 8r3
) 70:2= 35 8 46+2= 23 " 126 14
12. 4r2
9 241+2= 120r1 10) 35+4= 813
11) 886+7= 12614 12) 30=7=_4r2
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 2 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 228:3 = 2) 84+2=
- - 1.
2
3
3 588+2= 4 27+4= 4
5.
6.
7.
5 849+9= 6) 269+6 =
8.
0.
10.
7) 742+3 = 8) 876+6=
- 11.
12.
9) 60+2= 10) 29+2 =
11) 973+7= 12) 26+4 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 111121 8] 0




ﬂh Dividing Whole Numbers

Name: Answer Key
Solve each problem. Answers
1) 228+3= 76 2) 84+2= 42 . 76
2 42
3 294
3) 588+2=_ 294 49 27+4=_613 a 6r3
5, 94713
6. 4415
5 849:9= 94r3 6) 269+6=_ 4475 n 2T
8. 146
9. 30
10, 14r1
7) 742+3= 24711 8 876+6= 146 " 139
12 612
9 60+2= 30 10) 29+2= 14r1
11) 973+7= 139 12) 26+4= 612
CETED [F—— 3 T




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 32+3= 2) 52 =
- - 1.
2.
3.
3 52+2= 4) 27+4 = 4
5.
6.
7.
5 890+8 = 6) 114+2 =
8.
9.
10.
) 47+2 = 8 936-9=
11.
12.
9 228+9= 10) 48+2 =
11) 1293 = 12) 47+8=
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 4 11-12( 8| 0
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 32+3= 10r2 2) 56:2= 28 1072
- 1.
2 28
3. 26
3 52:2= 26 4 27+4= 613 4 6r3
5. 111r2
6 57
7 23rl
5 890+8= 11112 6) 114+2= 57
8. 104
9. 2513
10. 24
) 47+2= 23rl 8 036+9= 104 13
- - 11.
12. 5r7
9 228+9= 2513 10) 48+2= 24
11) 129+3= 43 12) 47+8= 517
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 4 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 361+5= 2) 126+7=
- - 1
2.
3.
3 168+6= 4) 32:3= 4
5.
6.
7.
5 25+2= 6) 37+5=
8.
9.
10.
7) 58+2 = 8 575+9=
- 11.
12.
9 35:2-= 10) 792+2=
11) 935+8 = 12) 70+2=
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




ﬂh Dividing Whole Numbers

Name: Answer Key
Solve each problem. Answers
1) =5 = 2) ~( =
361+5 72rl 126+7 18 . 211
2 18
3. 28
3 168+6=__ 28 4 32+3=_10r2 a 10r2
5. 12r1
6. 7r2
7 29
5 25:2= 12r1 6) 37+5= 712
8. 63r8
0. 17rl
10. 396
7 - - 8 — =
) 58+2 29 ) 575+9 6318 " 11617
12, 35
9 35:2= 17r1 10) 792+2= 396
11) 935+8=_116r7 12) 70:2=_ 35
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 92+:2= 2) 968+9=
- 1
2.
3.
3 139+3= 4 5O:2= 4
5.
6.
7.
5 849+2 = 6) 224-8 =
8.
9.
10.
7 70:2= 8) 34+4 =
- 11.
12.
9 861+7 = 10) 39:5=
11) 589+9 = 12) 721+7 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 92+2= 46 2) 968+9= 10715 46
- 1.
2 107 r5
3. 46r1l
3 139+3= 4611 4 50+2=_ 25 4 25
5. 4241
6 28
7 35
5 849+2= 424r1 6) 224+8= 28
8. 8r2
0. 123
10. 7r4
) 70:2= 35 8 34+4= 8r2 65 r4
11.
12 103
9 861+7= 123 10) 39-5= 7r4
11) 589:9= 6514 12) 721+7=_ 103
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 6 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 352+8= 2) 41+6=
- 1.
2.
3.
3) 223+5= 4) 3905 = a
5.
6.
7.
5 336+3= 6) 48-2 =
8.
9.
10.
7)) 212 = 8) 408+6 =
- 11.
12.
9 40+7= 10) 60=2 =
11) 82+2= 12) 664+5 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-1121 8 | 0
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 352:8= 44 2) 41+6= 615 4
- 1.
2 6r5
3 44 r3
3 223:5= 4413 4) 390:5=_ 78 4 78
5. 112
6 24
7 10r1
5 336+3= 112 6) 48+2= 24
8 68
9. 5r5
10. 30
) 21+2= 10r1 8 408+6= 68 a1
- 11.
12. 132r4
9 40+7= 515 100 60+2= 30
11) 82+2= 41 12) 664+5= 132714
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 7 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 33+5= 2) 84+2 =
- - 1.
2
3
3) 48+2= 4) 96+2= a
5.
6.
7.
5 74+2= 6) 14+9=
8.
0.
10.
7) 823+6= 8 218+2=
- 11.
12.
9 396+9= 10) 37+5=
11) 274+4 = 12) 708+2 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 111121 8] 0




=

Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 33:5= 613 2 84+2=_ 42 613
1.
2 42
3 24
3 48:2= 24 4 96:2= 48 4 48
5, 37
6. 1r5
7 137r1
5 74+2= 37 6) 14+9= 115
8. 109
9 44
10. 7r2
7) 823+6=_137rl 8 218+2= 109 L 6812
12, 354
9 396+:9= 44 10) 37+5= 712
11) 274+4= 6812 12) 708+2= 354
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 8 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 46+2= 2) 833+6=
1.
2,
3.
3 181+4= 4) 643+9 = )
5.
6.
7.
5 19+6= 6) 32+3=
8.
9.
10.
7) 784+5= 8 82+2=
- 11.
12.
9 740+5= 10) 48+2 =
11) 38+5= 12) 64+2 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-1121 8 | 0




=

Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 46+2= 23 2) 833+6= 13815 23
- 1.
2. 138r5
3 45r1
3) 181+4= 45r1 4) 643+9= 7114 4, /1r4
5. 3rl
6. 10r2
7. 156r4
5 19+6= 3rl 6) 32+3= 10r2
8 41
0. 148
10. 24
7) 784+5= 15614 8 82:2= 41 73
- 11.
12, 32
9 740+5= 148 10) 48+2= 24
11) 38+5= 713 12) g4+2= 32
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 9 111121 8] 0




C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 56+2= 2) 25-7=
- 1.
2
3
3 31+4= 4) 960+8 = 4,
5.
6.
7.
5 60+2= 6) 792+6 =
8.
0.
10.
7) 30:5= 8) 765+9 =
- - 11.
12.
9 812+8= 10) 663+6 =
11) 577+2 = 12) 46+2 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 56+2= 28 2) 25-7= 314 -
1.
2. 3r4
3. 7r3
3 31+4=_ 713 4) 960+8= a 120
5. 30
6. 132
7. 6r2
5 60+:2= 30 6) 792+6 =
8 85
0. 101r4
10. 110r3
) 32+5= 612 8 765+9 = " 28811
12, 23
9 812+8= 101r4 10) 663+6= 11013
11) 577+2= 288r1 12) 46+2=_ 23
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0
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